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Scuola	
  Formazione	
  	
  
Tirocinan6	
  Do8ori	
  Commercialis6	
  

PERUGIA,	
  MAGGIO	
  2014	
  
	
  

Il	
  budget	
  generale	
  d’impresa	
  
	
  
	
  
	
  
	
  

FABIO	
  SANTINI	
  
Dipar6mento	
  di	
  Discipline	
  Giuridiche	
  ed	
  Aziendali	
  

Università	
  degli	
  Studi	
  di	
  Perugia	
  
	
  

1.  guidare	
  ed	
  orientare	
  i	
  manager	
  (specificazione	
  di	
  obieQvi	
  
opera6vi	
  a	
  cascata);	
  

2.  coordinare	
  risorse,	
  aree	
  e	
  funzioni	
  aziendali	
  per	
  il	
  
perseguimento	
  degli	
  obieQvi	
  aziendali;	
  

3.  Assegnare	
  risorse	
  alle	
  diverse	
  aree	
  aziendali;	
  
4.  individuare	
  fa8ori	
  ed	
  aree	
  di	
  cri6cità	
  che	
  hanno	
  

ostacolato	
  il	
  raggiungimento	
  degli	
  obieQvi	
  a8raverso	
  
analisi	
  a	
  consun6vo	
  (analisi	
  di	
  scostamento);	
  

5.  mo6vare	
  i	
  responsabili	
  di	
  area	
  ed	
  i	
  dipenden6;	
  
6.  migliorare	
  il	
  grado	
  di	
  conoscenza	
  della	
  realtà	
  e	
  aziendale.	
  

	
  
 Fabio Santini, Università di Perugia 

Le	
  funzioni	
  del	
  budget	
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 Fabio Santini, Università di Perugia 

La	
  stru8ura	
  del	
  budget	
  (impresa	
  industriale)	
  

BUDGET	
  
AZIENDALE	
  

BUDGET	
  
PATRIMONIALE	
  

BUDGET	
  
ECONOMICO	
  

B.	
  MATERIALI	
  DIRETTI	
  

B.	
  MANODOPERA	
  
	
  DIRETTA	
  

	
  
B.	
  COSTI	
  INDUSTRIALI	
  

	
  

BUDGET	
  FINANZIARIO	
  

BUDGET	
  	
  
INVESTIMENTI	
  

B.	
  COSTI	
  DI	
  
DISTRIBUZIONE	
  

B.	
  COSTI	
  	
  
AMMINISTRATIVI	
  

B.	
  SCORTE	
  MATERIALI	
  	
  
DIRETTI	
  

B.	
  	
  
APPROVVIGIONAMENTI	
  

BUDGET	
  ONERI	
  	
  
FINANZIARI	
  

BUDGET	
  ONERI	
  	
  
E	
  PROV.	
  ATIPICI	
  

BUDGET	
  ONERI	
  	
  
E	
  PROVENTI	
  STRA.	
  

BUDGET	
  REDDITO	
  	
  
OPERATIVO	
  

BUDGET	
  COSTO	
  	
  
DEL	
  VENDUTO	
  

BUDGET	
  REDDITO	
  	
  
NETTO	
  

BUDGET	
  IMPOSTE	
  	
  
SUL	
  REDDITO	
  

BUDGET	
  REDDITO	
  	
  
NETTO	
  ANTE	
  IMPOSTE	
  

B.	
  VENDITE	
  

1.  A	
  base	
  zero	
  (ZBB)/	
  incrementale;	
  
2.  Flessibile/rigido;	
  
3.  Fondato	
  sulle	
  aQvità	
  (ABB)/tradizionale;	
  
4.  Top-­‐down/bo8om-­‐up.	
  

	
  

 Fabio Santini, Università di Perugia 

Tipologie	
  di	
  budget	
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 Fabio Santini, Università di Perugia 

Alcune	
  note	
  in	
  merito	
  al	
  	
  
budget	
  degli	
  inves6men6	
  

	
  
La	
  pianificazione	
  degli	
  inves6men6	
  si	
  sviluppa	
  in	
  tre	
  fasi:	
  
1)  Iden6ficazione	
  dei	
  potenziali	
  inves6men6	
  (per	
  6pologie);	
  
2)  Raccolta	
  da6	
  e	
  selezione	
  di	
  quelli	
  da	
  intraprendere	
  in	
  base	
  a	
  

logiche	
  di	
  convenienza	
  economica;	
  
3)  Monitoraggio	
  successivo	
  
	
  
Il	
  budget	
  che	
  ne	
  deriva	
  consente	
  di:	
  
1)  quan6ficare	
  l’impegno	
  finanziario	
  necessario	
  ad	
  adeguare	
  la	
  

stru8ura	
  aziendale	
  ai	
  piani	
  e	
  programmi	
  formula6;	
  
2)  quan6ficare	
  l’effe8o	
  che	
  è	
  lecito	
  a8endersi	
  dall’impiego	
  dei	
  

nuovi	
  inves6men6	
  sulla	
  situazione	
  patrimoniale	
  finanziaria	
  ed	
  
economica	
  degli	
  esercizi	
  futuri.	
  

	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves6men6	
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Esistono	
  molteplici	
  metodi	
  per	
  la	
  valutazione	
  economico-­‐
finanziaria	
  dei	
  progeQ	
  di	
  inves6mento.	
  Tra	
  i	
  più	
  diffusi	
  si	
  
ricordano	
  i	
  seguen6:	
  
	
  
a)  Metodo	
  del	
  rendimento	
  annuo	
  medio	
  contabile;	
  
b)  Metodo	
  del	
  periodo	
  di	
  recupero	
  (Payback	
  period)	
  
c)  Metodo	
  del	
  valore	
  a8uale	
  ne8o	
  (VAN);	
  
d)  Metodo	
  del	
  tasso	
  interno	
  di	
  rendimento	
  (TIR).	
  
	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves6men6	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves6men6	
  

Esempio	
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 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves6men6	
  

a)	
  Metodo	
  del	
  rendimento	
  annuo	
  medio	
  contabile	
  
	
  
Tale	
  metodo	
  appar6ene	
  ai	
  procedimen6	
  che	
  non	
  tengono	
  conto	
  
del	
  “fa@ore	
  tempo”	
  nella	
  determinazione	
  del	
  valore	
  degli	
  
esborsi	
  e	
  degli	
  incassi	
  di	
  denaro.	
  
	
  
Nella	
  sua	
  semplicità,	
  il	
  metodo	
  perme@e	
  di	
  confrontare	
  la	
  
“reddiBvità”	
  di	
  più	
  progeF	
  tra	
  di	
  loro,	
  come	
  rapporto	
  tra	
  gli	
  
incassi	
  medi	
  di	
  periodo	
  (al	
  ne8o	
  delle	
  quote	
  di	
  ammortamento)	
  
e	
  gli	
  esborsi	
  medi	
  iniziali.	
  	
  
	
  
(Tale	
  metodo	
  consente	
  di	
  a8ribuire	
  una	
  preferenza	
  ai	
  progeQ	
  di	
  
inves6mento	
  anche	
  in	
  presenza	
  di	
  iden6ci	
  periodi	
  di	
  recupero)	
  
	
  

	
  
	
  	
  	
  	
  	
  	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves6men6	
  

a)	
  Metodo	
  del	
  rendimento	
  annuo	
  medio	
  contabile	
  

NB:	
  occorrerebbe	
  tener	
  conto	
  anche	
  della	
  fiscalità	
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 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves6men6	
  

b)	
  Metodo	
  del	
  periodo	
  di	
  recupero	
  
	
  
Il	
  metodo	
  del	
  periodo	
  di	
  recupero	
  (pay	
  back	
  o	
  pay	
  out)	
  è,	
  pur	
  con	
  
mol6	
  limi6,	
  una	
  delle	
  tecniche	
  più	
  usate	
  nella	
  valutazione	
  degli	
  
inves6men6	
  a	
  più	
  alto	
  grado	
  di	
  rischio.	
  	
  
	
  
Con	
  esso	
  si	
  tende	
  a	
  determinare	
  dopo	
  quanto	
  tempo	
  è	
  possibile	
  
recuperare	
  l’esborso	
  iniziale	
  impiegato	
  nel	
  proge@o	
  a@raverso	
  i	
  
flussi	
  neF	
  di	
  cassa	
  generaB.	
  
	
  
	
  

	
  
	
  	
  	
  	
  	
  	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves6men6	
  

b)	
  Metodo	
  del	
  periodo	
  di	
  recupero	
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 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves6men6	
  

b)	
  Metodo	
  del	
  periodo	
  di	
  recupero	
  
	
  
Non	
  perme8e	
  giudizi	
  sulla	
  validità	
  o	
  meno	
  dell’inves6mento	
  
ma	
  determina	
  soltanto	
  i	
  tempi	
  entro	
  i	
  quali	
  il	
  denaro	
  verrà	
  
recuperato,	
  non	
  tenendo	
  in	
  alcun	
  conto	
  la	
  distribuzione	
  
temporale	
  dei	
  flussi	
  di	
  cassa	
  una	
  volta	
  raggiunto	
  il	
  recupero	
  
dell’inves6mento	
  iniziale.	
  
	
  
Consente	
  una	
  valutazione	
  di	
  larga	
  approssimazione	
  e	
  non	
  è	
  
u6lizzabile	
  per	
  la	
  selezione	
  di	
  progeQ	
  alterna6vi	
  né	
  nel	
  caso	
  in	
  
cui	
  abbiano	
  una	
  vita	
  s6mata	
  molto	
  diversa,	
  né	
  qualora	
  si	
  
abbiano	
  durate	
  simili	
  ma	
  flussi	
  di	
  cassa	
  per	
  uno	
  crescen6	
  e	
  per	
  
l’altro	
  decrescen6.	
  

	
  
	
  	
  	
  	
  	
  	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves6men6	
  

c)	
  Metodo	
  del	
  valore	
  a@uale	
  ne@o	
  (VAN)	
  
	
  

Il	
  valore	
  a8uale	
  ne8o	
  è	
  il	
  valore	
  ad	
  oggi	
  di	
  un	
  flusso	
  di	
  liquidità	
  
futura	
  calcolato	
  u6lizzando	
  un	
  tasso	
  minimo	
  di	
  rendimento	
  	
  
(required	
  rate	
  of	
  return:	
  RRR)	
  ritenuto	
  acce8abile	
  per	
  
intraprendere	
  l’inves6mento.	
  	
  
	
  
L’RRR	
  è	
  il	
  rendimento	
  che	
  un’azienda	
  si	
  aspe8a	
  di	
  	
  ricevere	
  da	
  un	
  
qualsiasi	
  inves6mento	
  a	
  parità	
  di	
  rischio.	
  Questo	
  tasso	
  è	
  anche	
  
chiamato	
  tasso	
  di	
  sconto	
  o	
  costo	
  opportunità	
  del	
  capitale.	
  
	
  
Per	
  tale	
  ragione,	
  tuQ	
  i	
  progeQ	
  con	
  un	
  VAN	
  posi6vo	
  sono	
  da	
  
valutare	
  posi6vamente.	
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 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves6men6	
  

c)	
  Metodo	
  del	
  valore	
  a@uale	
  ne@o	
  (VAN)	
  

	
  
	
  	
  	
  	
  	
  	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves6men6	
  

d)	
  Metodo	
  del	
  tasso	
  interno	
  di	
  rendimento	
  
	
  
è	
  quel	
  tasso	
  che	
  consente	
  di	
  eguagliare	
  il	
  valore	
  a8uale	
  dei	
  flussi	
  
di	
  cassa	
  posi6vi	
  a8esi	
  ed	
  il	
  valore	
  a8uale	
  dei	
  flussi	
  di	
  cassa	
  
nega6vi	
  derivan6	
  da	
  un	
  proge8o.	
  
	
  
Sostanzialmente	
  è	
  quel	
  tasso	
  di	
  sconto	
  che	
  genera	
  un	
  valore	
  
a8uale	
  ne8o	
  dell’inves6mento	
  (VAN)	
  =	
  0.	
  
	
  
Nell’esempio	
  presentato,	
  i	
  tre	
  progeQ	
  presentano	
  un	
  Tir	
  pari	
  
rispeQvamente	
  a	
  0;	
  26,91%;	
  16,15%.	
  



06/05/14	
  

9	
  

	
  
	
  	
  	
  	
  	
  	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves6men6	
  

d)	
  Metodo	
  del	
  tasso	
  interno	
  di	
  rendimento	
  
	
  
è	
  quel	
  tasso	
  che	
  consente	
  di	
  eguagliare	
  il	
  valore	
  a8uale	
  dei	
  flussi	
  
di	
  cassa	
  posi6vi	
  a8esi	
  ed	
  il	
  valore	
  a8uale	
  dei	
  flussi	
  di	
  cassa	
  
nega6vi	
  derivan6	
  da	
  un	
  proge8o.	
  
	
  
Sostanzialmente	
  è	
  quel	
  tasso	
  di	
  sconto	
  che	
  genera	
  un	
  valore	
  
a8uale	
  ne8o	
  dell’inves6mento	
  (VAN)	
  =	
  0.	
  
	
  
Nell’esempio	
  presentato,	
  i	
  tre	
  progeQ	
  presentano	
  un	
  Tir	
  pari	
  
rispeQvamente	
  a	
  0;	
  26,91%;	
  16,15%.	
  

	
  
	
  	
  	
  	
  	
  	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves6men6	
  

Esempio	
  di	
  stru8ura	
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 Fabio Santini, Università di Perugia 

Alcune	
  note	
  in	
  merito	
  ai	
  più	
  significa6vi	
  
sub-­‐sistemi	
  che	
  compongono	
  il	
  	
  

budget	
  economico	
  

Tra	
  i	
  fa8ori	
  considera6	
  nelle	
  previsioni	
  di	
  vendita	
  possono	
  
annoverarsi:	
  
	
  
1)  l’esperienza	
  passata	
  combinata	
  con	
  da6	
  de8aglia6	
  sulle	
  

vendite	
  passate	
  per	
  linea	
  di	
  prodoQ,	
  area	
  geografica	
  e	
  6po	
  di	
  
cliente;	
  

2)  	
  s6me	
  effe8uate	
  dalla	
  forza	
  vendita;	
  
3)  condizioni	
  economiche	
  generali;	
  
4)  azioni	
  della	
  concorrenza;	
  
5)  cambiamen6	
  dei	
  prezzi	
  dei	
  prodoQ	
  da	
  parte	
  dell’azienda;	
  
6)  cambiamen6	
  nel	
  mix	
  dei	
  prodoQ;	
  
7)  ricerche	
  di	
  mercato;	
  
8)  piani	
  pubblicitari	
  e	
  promozionali.	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  delle	
  vendite	
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Esempio	
  di	
  stru8ura	
  
	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  delle	
  vendite	
  

La	
  programmazione	
  della	
  produzione	
  trova	
  fondamento	
  nel	
  
budget	
  delle	
  vendite	
  ma	
  incorpora	
  anche	
  le	
  scelte	
  di	
  
ges6one	
  delle	
  scorte.	
  InfaQ,	
  per	
  ciascun	
  periodo	
  
considerato:	
  
	
  
Quan6tà	
  da	
  produrre	
  =	
   	
  Quan6tà	
  di	
  prodoQ	
  da	
  vendere	
  

	
   	
   	
   	
   	
   	
   	
  +	
  incremen6	
  di	
  scorte	
  di	
  prodoQ	
  
	
   	
   	
   	
   	
   	
   	
  -­‐	
  decremen6	
  di	
  scorte	
  di	
  prodoQ	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  della	
  produzione	
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La	
  poli6ca	
  delle	
  scorte	
  assunta	
  dall’azienda	
  è	
  influenzata	
  da	
  
molteplici	
  fa8ori.	
  Tra	
  i	
  più	
  importan6	
  si	
  annoverano	
  i	
  seguen6:	
  
	
  
a)  Deperibilità	
  dei	
  materiali;	
  
b)  Modalità	
  e	
  mezzi	
  di	
  stoccaggio;	
  
c)  Capacità	
  receQva	
  dei	
  magazzini;	
  
d)  Lunghezza	
  dei	
  cicli	
  di	
  produzione;	
  
e)  Cos6	
  finanziari	
  connessi	
  all’immobilizzo	
  delle	
  scorte;	
  
f)  Limitata	
  reperibilità	
  delle	
  materie	
  prime;	
  
g)  Rischi	
  di	
  obsolescenza;	
  
h)  Esigenze	
  della	
  clientela;	
  
i)  Oscillazioni	
  della	
  domanda	
  di	
  mercato.	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  della	
  produzione	
  

Schema	
  esemplifica6vo	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  della	
  produzione	
  

Ipotesi:	
  RF	
  =	
  10%	
  delle	
  vendite	
  di	
  periodo	
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Il	
  budget	
  della	
  produzione	
  fissa	
  implicitamente	
  anche	
  la	
  
quan6tà	
  di	
  risorse	
  che	
  devono	
  venire	
  impiegate	
  nel	
  processo	
  
produQvo	
  in	
  riferimento	
  alle	
  materie	
  prime	
  (budget	
  degli	
  
approvvigionamen6),	
  alla	
  manodopera	
  dire8a	
  (budget	
  della	
  
manodopera	
  dire8a	
  ed	
  alle	
  spese	
  generali	
  tecniche	
  (che	
  
l’azienda	
  sceglie	
  di	
  ripar6re	
  alle	
  unità	
  di	
  prodo8o).	
  
	
  
Per	
  tali	
  fa8ori	
  è	
  generalmente	
  possibile	
  ricorrere	
  a	
  valori	
  
standard	
  di	
  impiego	
  per	
  unità	
  di	
  prodo8o.	
  
Ciò	
  consente	
  di	
  effe8uare	
  delle	
  analisi	
  di	
  efficienza	
  
economica	
  a	
  consun6vo.	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  della	
  produzione	
  

Per	
  determinare	
  la	
  quan6tà	
  di	
  materie	
  che	
  saranno	
  u6lizzate	
  
nell’arco	
  di	
  tempo	
  considerato	
  dal	
  budget,	
  l’azienda	
  deve	
  
avere	
  preven6vamente	
  definito:	
  
	
  
-­‐  Il	
  volume	
  di	
  produzione	
  che	
  intende	
  realizzare;	
  
-­‐  La	
  quan6tà	
  di	
  materie	
  necessarie	
  per	
  la	
  realizzazione	
  di	
  
ciascun	
  prodo8o	
  (quan6tà	
  d’uso	
  in	
  ipotesi	
  di	
  rendimen6	
  
standard);	
  

-­‐  La	
  poli6ca	
  di	
  approvvigionamento	
  e	
  la	
  misura	
  dello	
  stock	
  di	
  
sicurezza.	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  approvvigionamen6	
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 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  approvvigionamen6	
  

Ipotesi:	
  	
  
a)	
  RF	
  =	
  10%	
  della	
  quan6tà	
  immessa	
  in	
  lavorazione;	
  
b)	
  non	
  è	
  prevista	
  l’applicazione	
  di	
  una	
  tecnica	
  di	
  minimizzazione	
  del	
  costo	
  
complessivo	
  di	
  approvvigionamento;	
  
c)	
  Quan6tà	
  d’uso	
  della	
  materia	
  =	
  3	
  
d)	
  Costo	
  “standard”	
  pari	
  ad	
  €	
  1,65	
  per	
  ciascuna	
  unità	
  di	
  materia.	
  

 Fabio Santini, Università di Perugia 

	
  	
  	
  	
  Quan6tà	
  di	
  scorte	
  da	
  acquisire	
  ogni	
  volta	
  che	
  si	
  va	
  sul	
  
mercato	
  in	
  modo	
  da	
  minimizzare	
  il	
  costo	
  annuo	
  
totale	
  degli	
  approvvigionamen6.	
  	
  

Il	
  lo@o	
  economico	
  di	
  acquisto	
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 Fabio Santini, Università di Perugia 

Costo	
  annuo	
  di	
  acquisto	
  delle	
  scorte:	
  
	
  	
  Cap	
  =	
  k	
  x	
  =	
  k	
  b/y	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  
Costo	
  annuo	
  di	
  immobilizzo	
  e	
  di	
  mantenimento	
  delle	
  scorte:	
  

	
  Cis	
  =	
  t	
  c	
  y/2	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  
Costo	
  totale	
  dell’approvvigionamento:	
  

	
  Cta	
  =	
  Cap	
  +	
  Cis	
  =	
  k	
  b/y	
  +	
  t	
  c	
  y/2	
  

y	
  =	
  lo8o	
  economico	
  
b	
  =	
  quan6tà	
  annua	
  
x	
  =	
  numero	
  delle	
  ordinazioni	
  annue	
  

c	
  =	
  costo	
  unitario	
  di	
  acquisto	
  
k	
  =	
  costo	
  di	
  approvvigionamento	
  per	
  ogni	
  ordine	
  
t	
  =	
  costo	
  di	
  immobilizzo	
  delle	
  scorte	
  

Il	
  lo@o	
  economico	
  di	
  acquisto	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  approvvigionamen6	
  

Ipotesi	
  applicazione	
  lo@o	
  economico:	
  	
  
K=	
  10.650	
  euro;	
  t=0,05;	
  c=1,65	
  
Quan6tà	
  d’uso	
  della	
  materia	
  =	
  3	
  



06/05/14	
  

16	
  

La	
  formulazione	
  del	
  budget	
  in	
  ogge8o	
  avviene	
  seguendo	
  le	
  
seguen6	
  fasi:	
  
	
  
1)  Determinazione	
  delle	
  ore	
  tot.	
  di	
  MOD	
  (tempo	
  standard	
  

per	
  prodo8o	
  x	
  quan6tà	
  da	
  produrre);	
  
2)  Determinazione	
  dell’organico	
  necessario	
  alla	
  

realizzazione	
  dei	
  volumi	
  di	
  produzione	
  programma6	
  (ore	
  
tot.	
  MOD/Ore	
  presenza	
  media	
  pro-­‐capite)	
  

3)  Valutazione	
  del	
  personale	
  da	
  assumere	
  o	
  in	
  esubero;	
  
4)  Definizione	
  di	
  una	
  tariffa	
  oraria	
  della	
  manodopera	
  (costo	
  

lordo	
  del	
  lavoro/Ore	
  presenza	
  media	
  pro-­‐capite).	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  della	
  manodopera	
  dire8a	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  della	
  manodopera	
  dire8a	
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33	
  

	
  	
  

	
  

 Fabio Santini, Università di Perugia 

Le	
  analisi	
  di	
  scostamento	
  tra	
  da6	
  
preven6vi	
  e	
  consun6vi	
  

34	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  La	
  fissazione	
  di	
  valori	
  “standard”	
  di	
  consumo	
  (prezzi	
  o	
  
quan6tà)	
  può	
  concernere:	
  

1.   Valori	
  ideali,	
  raggiungibili	
  nelle	
  circostanze	
  migliori.	
  Non	
  
contemplano	
  disfunzioni	
  né	
  interruzioni	
  e	
  si	
  fondano	
  su	
  
una	
  occupazione	
  della	
  forza	
  lavoro	
  al	
  100%;	
  

2.   Valori	
  praBci,	
  considera6	
  “rigidi	
  ma	
  raggiungibili”.	
  
Prevedono	
  normali	
  disfunzioni	
  o	
  interruzioni	
  e	
  sono	
  
raggiungibili	
  mediante	
  sforzi	
  “ragionevoli”.	
  

Gli	
  	
  standard	
  

 Fabio Santini, Università di Perugia 
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35	
  

	
  	
  	
  	
  	
  	
  	
  	
  Lo	
  scostamento	
  (tra	
  valori	
  standard	
  e	
  valori	
  consun6vi)	
  
in	
  esame	
  può	
  dipendere:	
  

1.  da	
  una	
  varianza	
  di	
  prezzo	
  
2.  da	
  una	
  varianza	
  di	
  quan6tà	
  
3.  da	
  entrambe.	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  Si	
  supponga	
  di	
  aver	
  previsto	
  l’acquisto	
  di	
  6000	
  unità	
  di	
  
materiale	
  (quan6tà	
  standard	
  data	
  da	
  2000	
  unità	
  x	
  3,0	
  
Kg.	
  l’unità)	
  al	
  prezzo	
  standard	
  di	
  €	
  4	
  (totale	
  €	
  24.000)	
  

La	
  varianza	
  dei	
  materiali	
  direQ	
  

 Fabio Santini, Università di Perugia 

36	
  

	
  	
  	
  	
  	
  	
  	
  	
  La	
  varianza	
  di	
  quan6tà	
  è	
  data	
  dalla	
  differenza	
  tra:	
  
§  Quan6tà	
  effeQva	
  (6.500	
  per	
  ipotesi)	
  per	
  il	
  prezzo	
  

standard	
  (totale	
  €	
  26.000);	
  
§  Quan6tà	
  standard	
  al	
  prezzo	
  standard	
  (€	
  24.000)	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Pari	
  ad	
  €	
  2000	
  (Sfavorevole)	
  

	
  	
  	
  	
  	
  	
  	
  	
  

La	
  varianza	
  dei	
  materiali	
  direQ	
  

 Fabio Santini, Università di Perugia 



06/05/14	
  

19	
  

37	
  

	
  	
  	
  	
  	
  	
  	
  	
  La	
  varianza	
  di	
  prezzo	
  è	
  data	
  dalla	
  differenza	
  tra:	
  
§  Quan6tà	
  effeQva	
  (6.500)	
  per	
  il	
  prezzo	
  effeQvo	
  

(supponiamo	
  €	
  3,80)	
  (totale	
  €	
  24.700);	
  
§  Quan6tà	
  effeQva	
  al	
  prezzo	
  standard	
  (€	
  26.000)	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Pari	
  ad	
  €	
  1.300	
  (Favorevole)	
  

	
  	
  	
  	
  	
  	
  	
  	
  

La	
  varianza	
  dei	
  materiali	
  direQ	
  

 Fabio Santini, Università di Perugia 

38	
  

La	
  varianza	
  dei	
  materiali	
  direQ	
  

 Fabio Santini, Università di Perugia 
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  Lo	
  scostamento	
  (tra	
  valori	
  standard	
  e	
  valori	
  consun6vi)	
  
può	
  dipendere:	
  

1.  da	
  una	
  varianza	
  di	
  tariffa	
  	
  
2.  da	
  una	
  varianza	
  di	
  efficienza	
  
3.  da	
  entrambe.	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  Si	
  supponga	
  di	
  aver	
  previsto	
  5000	
  ore	
  lavora6ve	
  
(quan6tà	
  standard	
  data	
  da	
  2000	
  unità	
  x	
  2,5	
  ore	
  per	
  
unità)	
  alla	
  tariffa	
  standard	
  di	
  €	
  14	
  (totale	
  €	
  70.000)	
  

La	
  varianza	
  della	
  manodopera	
  dire8a	
  

 Fabio Santini, Università di Perugia 

40	
  

La	
  varianza	
  di	
  efficienza	
  è	
  data	
  dalla	
  differenza	
  tra:	
  
§  Ore	
  effeQve	
  (5.400	
  per	
  ipotesi)	
  per	
  la	
  tariffa	
  standard	
  

(totale	
  €	
  75.600);	
  
§  Ore	
  standard	
  per	
  la	
  tariffa	
  standard	
  (€	
  70.000)	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Pari	
  ad	
  €	
  5.600	
  (Sfavorevole)	
  

	
  	
  	
  	
  	
  	
  	
  	
  

La	
  varianza	
  della	
  manodopera	
  dire8a	
  

 Fabio Santini, Università di Perugia 
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41	
  

La	
  varianza	
  di	
  tariffa	
  è	
  data	
  dalla	
  differenza	
  tra:	
  
§  Ore	
  effeQve	
  (5.400)	
  per	
  la	
  tariffa	
  effeQva	
  (supponiamo	
  

€	
  13,75)	
  (totale	
  €	
  74.250);	
  
§  Ore	
  effeQve	
  per	
  la	
  tariffa	
  standard	
  (€	
  75.600)	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Pari	
  ad	
  €	
  1.350	
  (Favorevole)	
  

	
  	
  	
  	
  	
  	
  	
  	
  

La	
  varianza	
  della	
  manodopera	
  dire8a	
  

 Fabio Santini, Università di Perugia 

42	
  

La	
  varianza	
  della	
  manodopera	
  dire8a	
  

 Fabio Santini, Università di Perugia 
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43	
  

	
  	
  	
  	
  	
  	
  	
  Lo	
  scostamento	
  (tra	
  valori	
  standard	
  e	
  valori	
  consun6vi)	
  
può	
  dipendere:	
  

1.  da	
  una	
  varianza	
  di	
  volume	
  
2.  da	
  una	
  varianza	
  di	
  spesa	
  
3.  da	
  entrambe.	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  Si	
  supponga	
  di	
  aver	
  previsto	
  5000	
  ore	
  lavora6ve	
  (2000	
  
unità	
  x	
  2,5	
  ore	
  per	
  unità).	
  Data	
  la	
  previsione	
  di	
  cos6	
  
generali	
  per	
  €	
  10.000	
  +	
  €	
  1,2	
  per	
  ogni	
  ora	
  lavorata	
  ,	
  la	
  
tariffa	
  standard	
  viene	
  apprezzata	
  in	
  €	
  3,2.	
  

La	
  varianza	
  delle	
  spese	
  generali	
  tecniche	
  

 Fabio Santini, Università di Perugia 

44	
  

La	
  varianza	
  di	
  volume	
  è	
  data	
  dalla	
  differenza	
  tra:	
  
§  Ore	
  effeQve	
  (5.400	
  per	
  ipotesi)	
  per	
  la	
  tariffa	
  standard	
  

(totale	
  €	
  17.280);	
  
§  Cos6	
  presun6	
  in	
  corrispondenza	
  del	
  volume	
  effeQvo	
  (€	
  

10.000	
  +	
  1,2	
  x	
  5.400	
  =	
  16.480)	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Pari	
  ad	
  €	
  800	
  (Favorevole)	
  

	
  	
  	
  	
  	
  	
  	
  	
  

La	
  varianza	
  delle	
  spese	
  generali	
  tecniche	
  

 Fabio Santini, Università di Perugia 
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45	
  

La	
  varianza	
  di	
  spesa	
  è	
  data	
  dalla	
  differenza	
  tra:	
  
§  Cos6	
  presun6	
  in	
  corrispondenza	
  del	
  volume	
  effeQvo	
  	
  

(totale	
  €	
  16.480);	
  
§  Cos6	
  effeQvi	
  (€	
  18.200)	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Pari	
  ad	
  €	
  1.720	
  (Sfavorevole)	
  

	
  	
  	
  	
  	
  	
  	
  	
  

La	
  varianza	
  delle	
  spese	
  generali	
  tecniche	
  

 Fabio Santini, Università di Perugia 

46	
  

La	
  varianza	
  delle	
  spese	
  generali	
  tecniche	
  
(caso	
  di	
  volume	
  inferiore	
  al	
  previsto)	
  

 Fabio Santini, Università di Perugia 


